B MexaH131poBaHHble MPeLV3NOHHbIE TUCKM
CO CTyNeHYaTbIMM1 Kynaukamu 1 perynvpyembim
KPYTALYUM MOMEHTOM

K 440 |e o | ]
® ©
1 E F 7+7777¢77>‘ 7%
M B . & oo _
_I_’_ 2x3-a AN A 7*& I ]
- I i e
- ;I N e M &%
@ . 'I -0 _!\_!_ | ] )
T | | ] AL i
i l =25 a L STROKE _ [=—Sm2%
| ._..jﬁ_ I
: i & g — St
. K 1.19 2 9 :
- i El =
El s -
[

Pa3wvepsbl

--ﬂ-ﬂ---------ﬂﬂﬂ-

PDV-100(4") 15 101 64 385 75 1065 185

PDV-125(5") 400 135 126 125 8 76 60 8 50 25 45 1055 5055 50 21 37 95 180 320 275 230
PDV-160(6") 490 160 161 160 94 8 50 100 60 30 50 1055 5955 65 21 37 95 180 400 350 300
PDV-200(8") 180 102 74 10 1065 6385 75 95 370 320

-----ﬂnﬂ-ﬂ-ll----l

PDV-100(4") 60 14~26 107 M10  M12X45 105 125 2880 212
PDV-125(5") 72 15~31 30 135 18 6 M10 M16X65 45 42 12 95 105 105 145 3605 321 R 1 17
PDV-160(6") 72 15~31 30 170 18 7 M10 M16X65 45 47 12 105 140 140 145 4505 255 12 17 25
PDV-2008") 72 1531 30 214 18 7 M10 M16X65 45 51 12 126 141 141 177 4615 375 150 17 25
Cneundourkaums

Lurcgg:a Brby%z;a Max. packpbiTne Sggf:; BbicoTa norayHka Sgg'lma:a ?q?_:—l'ﬂ-l:g Max. YE'&J"(T(Z fa)axsara ?(Z}?
PDV-100(4") 100 40 220 15 7% 107 4005 25(2551) 25
PDV-125(5") 125 50 320 135 85 135 5055 35(3571) 43
PDV-160(6") 160 60 400 160 100 170 5955 60(6122) 65
PDV-200(8") 200 70 420 180 110 214 638.5 60(6122) 100

© CrieuychnkaLst MOXeT BbiTb 13MeHeHa 6e3 yBenoMmeHust

104

@

®

Tnckun




